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BSE - PUBLIC 

Methodology for Estimating All India Market Capitalisation 

 

Market capitalisation is the aggregate valuation of the company based on its current share price and the 

total number of outstanding stocks. It is calculated by multiplying the current market price of the company's 

share with the total outstanding shares of the company. Full market cap represents the total value of 

company i.e., total issued securities/shares multiple of share price at a given time.  

 

Methodology for computing total market cap: 

The general methodology for computing the full market cap where companies are listed multiple exchanges 

is given below:  

 

n= Total no of exchanges 

Ai = Total no of companies listed at ith exchange  

Thus, ∑ 𝐴𝑖𝑛
𝑖=1  will give the total no of companies listed on all the exchanges (multiple counted if one 

company listed more than one exchanges). Therefore, we would use the theorem of principle of inclusion–

exclusion to find out the unique no of companies listed all the exchanges.   

The principle of inclusion–exclusion states that for finite sets A1, ..., An, one has the identity 

 

Where,  |A| indicates the cardinality of a set S (which may be considered as the number of elements of 

the set, if the set is finite) 

Therefore, to count the unique number of listed companies among all the exchanges equals to first sum the 

cardinalities of the individual exchanges, then subtract the number of companies which listed at exactly 

one exchange , then add back the number of companies listed at exactly two exchanges, then subtract the 

number of companies listed at exactly three exchanges, and so on. This process naturally ends since there 

can be no companies listed at more than the number of exchanges in the union (n). 

 

Now to find out unique name of the listed company among the exchanges, consider a matrix B==((bij)) 

where bij=  [ 
𝟏 𝒊𝒇 𝒐𝒏𝒆 𝒄𝒐𝒎𝒑𝒂𝒏𝒚 (𝑪𝒊)𝒍𝒊𝒔𝒕𝒆𝒅 𝒂𝒏𝒚 𝒐𝒇 𝒕𝒉𝒆 𝒆𝒙𝒄𝒉𝒂𝒏𝒈𝒆

 𝟎                                                                                   𝒆𝒍𝒔𝒆𝒘𝒉𝒆𝒓𝒆
 

therefore bi0=∑ 𝑏𝑖𝑗 belongs to 1 to n, where 1= unique listed companies, 2=listed at two exchanges and 

n=listed all the exchanges and so on; 
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Now to find out respective price of the listed company, consider a matrix Q==((qij)) 

where qij=  [
𝒑𝒊𝒋         𝒊𝒇 𝒃𝒊𝒋 = 𝟏

𝟎             𝒆𝒍𝒔𝒆𝒘𝒉𝒆𝒓𝒆
    

 

so respective price of ith company 

pi=∑ 𝑞𝑖𝑗𝑗 /bi0 

Therefore, market cap of all the companies=∑ 𝑝𝑖𝑖 *no of total shares of company i 

 

In India, BSE, NSE and MSEI are the three main exchanges report market cap separately. The methodology 

for computing market cap of all companies listed BSE, NSE and MSEI is as follows: 

Market Cap= 

∑ 𝑡𝑜𝑡𝑎𝑙 𝑛𝑜 𝑜𝑓 𝑠ℎ𝑎𝑟𝑒 𝑜𝑓 𝑐𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠 𝑤ℎ𝑖𝑐ℎ 𝑎𝑟𝑒 𝑒𝑥𝑐𝑙𝑢𝑠𝑖𝑣𝑒𝑙𝑦 𝑙𝑖𝑠𝑡𝑒𝑑 𝑎𝑡 𝐵𝑆𝐸

𝑛

𝑖=1

∗ 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 𝑝𝑟𝑖𝑐𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠ℎ𝑎𝑟𝑒 

+ 

∑ 𝑡𝑜𝑡𝑎𝑙 𝑛𝑜 𝑜𝑓 𝑠ℎ𝑎𝑟𝑒 𝑜𝑓 𝑐𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠 𝑤ℎ𝑖𝑐ℎ 𝑎𝑟𝑒 𝑒𝑥𝑐𝑙𝑢𝑠𝑖𝑣𝑒𝑙𝑦 𝑙𝑖𝑠𝑡𝑒𝑑 𝑎𝑡 𝑁𝑆𝐸

𝑛

𝑖=1

∗ 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 𝑝𝑟𝑖𝑐𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠ℎ𝑎𝑟𝑒 

+ 

∑ 𝑡𝑜𝑡𝑎𝑙 𝑛𝑜 𝑜𝑓 𝑠ℎ𝑎𝑟𝑒 𝑜𝑓 𝑐𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠 𝑤ℎ𝑖𝑐ℎ 𝑎𝑟𝑒 𝑒𝑥𝑐𝑙𝑢𝑠𝑖𝑣𝑒𝑙𝑦 𝑙𝑖𝑠𝑡𝑒𝑑 𝑎𝑡 𝑀𝑆𝐸𝐼

𝑛

𝑖=1

∗ 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 𝑝𝑟𝑖𝑐𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠ℎ𝑎𝑟𝑒 

+ 

∑ 𝑡𝑜𝑡𝑎𝑙 𝑛𝑜 𝑜𝑓 𝑠ℎ𝑎𝑟𝑒 𝑜𝑓 𝑐𝑜𝑚𝑚𝑜𝑛 𝑙𝑖𝑠𝑡𝑒𝑑 𝑐𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠

𝑛

𝑖=1

∗ 𝑎𝑣𝑒𝑟𝑎𝑔𝑒 𝑝𝑟𝑖𝑐𝑒 𝑡𝑟𝑎𝑑𝑒𝑑 𝑎𝑡 𝐵𝑆𝐸, 𝑀𝑆𝐸𝐼 𝑎𝑛𝑑 𝑁𝑆𝐸 

 


